Responses to the New Age:  Liberalism v. Conservatism:

In the first half of the nineteenth century, individuals of influence and power tended to be either “liberal” or “conservative.” These terms did were not party labels, as they are today, so much as differing views of human beings and the nature of social and political organization. These divisions were beginning to crystallize during the French Revolution, but were only able to truly effect the lives of all members of society after peace and order had been restored with the Congress of Vienna in 1815.

Liberalism generally accepted the eighteenth-century view of humans as rational beings. It considered society as the sum of the interests and needs of the individuals who composed it. The role of the state as Adam Smith and Jeremy Bentham proposed was to protect the freedom of the individual so that all persons could rationally pursue their own happiness and self-interest. This is a type of ”laissez-faire” political structure, where the government should be as hands-off as possible. Liberals assumed that the combined happiness of all individuals would create the best society. They opposed absolute and arbitrary rule and subscribed to constitutional forms of government, whether they were monarchies or republics. Since they believed that sovereignty was vested in the people and not in a ruler, they insisted that individual rights must be protected. 
These liberals were not advocates of democracy as we define it today, nineteenth century liberals actively sought to limit the vote to property owners, thus keeping the majority of society (including all women) out of the political arena. The early liberals feared that basic human rights would be lost if governments intervened in domestic affairs.

Conservatives, on the other hand, believed in the value of tradition and the need for more, rather than less, government. They saw society as a combination of ancient and diverse institutions which had to be preserved and protected; and they believed that anarchy would result if the complex organism of society was subjected to the rational process of reformers. A common way of understanding the conservative view of change in society is that of how an organism changes – gradually – if an organism is forced to change rapidly, then it is likely to die. Therefore, if society is forced to adapt rapidly, people are likely rise up, and the society will be destroyed. 
Conservatives had a less optimistic view of human nature than liberals. In their opinion, people were incapable, without guidance, of knowing or pursuing their own self-interest. Thus they tended to be more paternalistic and authoritarian than liberals, and emphasized order. Since the primary duty of the state was, in their view, to prevent society from falling apart, they favoured a strong central government which would ensure social stability and intervene when the forces of change seemed to threaten the forces of order.

States at this time tended to be characterized as more or less liberal or conservative. Of the great powers of Europe, England and France were generally thought of as liberal in form and attitude, while the eastern states — Austria, Prussia, and Russia — were considered to be conservative. Though it is difficult to draw clear lines, it may be said that liberalism was the outlook of the urban middle class while the landed upper class was usually conservative. Thus liberals were strong in the western states that began to industrialize early, but were weak in Eastern Europe.
In the east they were the political opponents of the ruling elite and, sometimes, even revolutionaries.  Later in the century, the terms “liberal” and “conservative” most often became labels referring to one’s attitude towards change. To be liberal meant to be willing to change to meet new needs. To be conservative meant either to be unwilling to change — to be committed to the social and political status quo — or, like Burke, to desire slow change, fearing the disorganization which might result from a quick transformation of social and political institutions.

Analysis Question:
1. Explain, in the form of a paragraph, the key similarities between modern liberalism and conservatism v. those schools of thought in the eighteenth century.
